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𝐺𝐷𝐼 = 𝑓(𝐸𝑋𝐷, 𝐷𝐷, 𝐺𝐷𝑃, 𝐷𝑆𝑃, 𝑇𝑂𝑃)

𝐿𝐺𝐷𝐼𝑡 = 𝛽0 +  𝛽1𝐿𝐸𝑋𝐷𝑡 + 𝛽2𝐿𝐷𝐷𝑡 +  𝛽3𝐿𝐺𝐷𝑃𝑡 +  𝛽4𝐿𝐷𝑆𝑃𝑡 +  𝛽5𝑇𝑂𝑃𝑡 + 𝜀𝑡

𝐺𝐷𝐼 𝐸𝑋𝐷

𝐷𝐷 𝐺𝐷𝑃 𝐷𝑆𝑃

𝑇𝑂𝑃

𝜀 𝑡

𝐿

(𝛽3) (𝛽4)
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(𝛽5

𝛽1 , 𝛽2 𝛽1 , 𝛽2

∆𝑙𝑜𝑔𝑌𝑡 =  𝛼0 + ∏ 𝐸𝐶𝑇𝑡−1. +  ∑ ∅𝑖
∗∆𝑙𝑜𝑔𝑌𝑡−𝑖

𝑝−1
𝑖=1 + 𝜀𝑡   

′ ′

𝑌𝑡 = [ 𝐺𝐷𝐼𝑡, 𝐸𝑋𝐷𝑡, 𝐷𝐷𝑡, 𝐺𝐷𝑃𝑡, 𝐷𝑆𝑃𝑡, 𝑇𝑂𝑃𝑡] 𝑌𝑡−𝑖: 𝑌𝑡 𝜀𝑡
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𝐿𝐺𝐷𝐼 = −5.95 −  0.256 𝐿𝐸𝑋𝐷 −  0.622𝐿𝐷𝐷 + 0.127𝐿𝐺𝐷𝑃 −  0.335 𝐿𝐷𝑆𝑃 −  0.354𝐿𝑇𝑂𝑃
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Error Correction: D(LNDOINV) D(LNDODEB) D(LNFODEB) D(LNDSER) D(LNGDP) D(LNOPEN) 
       
       CointEq1 -0.260313  0.342396 -0.094421 -0.444329 -0.251593  0.217629 

  (0.27748)  (0.24381)  (0.36246)  (0.97393)  (0.06383)  (0.32277) 

 [-3.69863] [ 1.40437] [-0.26050] [-0.45622] [-3.94148] [ 0.67425] 

       

D(LNDOINV(-1))  0.261972 -0.011046 -0.027527 -0.137244  0.123111  0.290679 

  (0.24709)  (0.21710)  (0.32276)  (0.86726)  (0.05684)  (0.28742) 

 [ 1.06021] [-0.05088] [-0.08529] [-0.15825] [ 2.16588] [ 1.01133] 

       

D(LNDODEB(-1))  0.544982 -0.172164 -0.243353  0.590600  0.172357 -0.314433 

  (0.35720)  (0.31385)  (0.46658)  (1.25371)  (0.08217)  (0.41550) 

 [ 1.52571] [-0.54856] [-0.52156] [ 0.47108] [ 2.09758] [-0.75676] 

       

D(LNFODEB(-1))  0.439022 -0.241973 -0.195276 -0.157454 -0.031719  0.234381 

  (0.21068)  (0.18511)  (0.27520)  (0.73947)  (0.04847)  (0.24507) 

 [ 2.08380] [-1.30716] [-0.70958] [-0.21293] [-0.65448] [ 0.95638] 

       

D(LNDSER(-1)) -0.043122  0.007956  0.065936 -0.092726  0.031633 -0.154170 

  (0.10683)  (0.09387)  (0.13955)  (0.37496)  (0.02458)  (0.12427) 

 [-0.40364] [ 0.08476] [ 0.47250] [-0.24730] [ 1.28719] [-1.24062] 

       

D(LNGDP(-1)) -0.068995 -0.598910 -1.251004  4.187185 -0.210326 -0.941507 

  (1.20457)  (1.05837)  (1.57345)  (4.22786)  (0.27710)  (1.40117) 

 [-0.05728] [-0.56588] [-0.79507] [ 0.99038] [-0.75903] [-0.67194] 

       

D(LNOPEN(-1)) -0.010335  0.340889  0.381909  0.240208  0.024113 -0.186891 

  (0.25863)  (0.22724)  (0.33783)  (0.90774)  (0.05949)  (0.30084) 

 [-0.03996] [ 1.50014] [ 1.13049] [ 0.26462] [ 0.40531] [-0.62123] 

       

C  0.011718  0.033804  0.053534 -0.192523  0.058565  0.039020 

  (0.05970)  (0.05245)  (0.07798)  (0.20953)  (0.01373)  (0.06944) 

 [ 0.19629] [ 0.64449] [ 0.68652] [-0.91884] [ 4.26468] [ 0.56191] 
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